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Multipliser desimaler med ti

8, 179 × 100 = ________ 6, 977 × 100 = ________

1, 008 × 1000 = ________ 8, 99 × 100000 = ________

1, 792 × 10 = ________ 1, 79 × 1000 = ________

9, 576 × 1000 = ________ 7, 443 × 1000 = ________

3, 916 × 10000 = ________ 2, 946 × 1000000 = ________

3, 519 × 10000 = ________ 9, 593 × 1000 = ________

7, 332 × 10000 = ________ 10, 567 × 100000 = ________

2, 555 × 10 = ________ 2, 021 × 10000 = ________

1, 084 × 100 = ________ 7, 775 × 10 = ________

5, 562 × 100 = ________ 10, 548 × 1000 = ________
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